[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

Ratio

AR AR AR AR RRR RN RARR LRRRE RRRRE RAREN LA JRARRE RRRRN RRRR

1072 10 1 10 0?
TP vertr (cr%)

—#— DQM_mkFit_XiMinusNOPU_newDefault5
Efficienq —— pom_mkFit_xiMinusNOPUold-lowpt

NI O
$0.09
[
>0.08
>
2
50.07
o
£0.06
[}
0.05
0.04
0.03
0.02
0.01- 4t
.0

Ratio

=
= =y
[T

|
Wrrr
o

30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
z
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

CYH SR T O A S S e e o

R [ ¢ LR AR Tigi

ol
=4

510 15 20
Sim. PV z (cm)



	Contents
	Page 1


